

Pasting Lemmas for b -Metric Preserving and Related Functions

Tammatada Khemaratchatakumthorn, Duangpon Siriwan

Department of Mathematics
Faculty of Science
Silpakorn University
Nakhon Pathom, 73000, Thailand

email: tammatada@gmail.com, khemaratchataku.t@silpakorn.edu
duangpon.siriwan@gmail.com

(Received May 5, 2021, Accepted June 7, 2021)

Abstract

Previously ([7], [8]), we established some relations between b -metrics and metric-preserving functions. In this article, we give pasting lemmas for those functions.

1 Introduction

It is well known that if $g : [a, b] \rightarrow \mathbb{R}$ and $h : [b, c] \rightarrow \mathbb{R}$ are continuous and $g(b) = h(b)$, then the function $f : [a, c] \rightarrow \mathbb{R}$ defined by

$$f(x) = \begin{cases} g(x), & \text{if } x \in [a, b]; \\ h(x), & \text{if } x \in [b, c] \end{cases}$$

is also continuous. This is usually called a pasting lemma. A version of a pasting lemma for metric-preserving functions is given by Doboš [6, p. 26] but there is no pasting lemma for b -metric-preserving and other related functions in the literature. So we provide such a lemma in this article. Let us recall the definitions and useful results on b -metrics and metric-preserving functions which were previously given in [7, 8] as follows:

Key words and phrases: Metric, b -metric, metric-preserving function, pasting lemma.

AMS (MOS) Subject Classifications: 26A21, 26A30.

Tammatada Khemaratchatakumthorn is the corresponding author.

ISSN 1814-0432, 2021, <http://ijmcs.future-in-tech.net>

Definition 1.1. Let X be a nonempty set. A function $d : X \times X \rightarrow [0, \infty)$ is called a b -metric if it satisfies the following three conditions:

(B1) for all $x, y \in X$, $d(x, y) = 0$ if and only if $x = y$,

(B2) for all $x, y \in X$, $d(x, y) = d(y, x)$,

(B3) there exists $s \geq 1$ such that

$$d(x, y) \leq s(d(x, z) + d(z, y)) \quad \text{for all } x, y, z \in X.$$

Definition 1.2. The function $f : [0, \infty) \rightarrow [0, \infty)$ is called metric preserving if for all metric spaces (X, d) , $f \circ d$ is a metric on X .

The concept of b -metrics appears in many articles (for example in [3, 5, 7, 11]). We also refer the reader to [1, 2, 4, 6, 10] for more information on metric-preserving functions and to [9] for applications in fixed point theory. In connection with metric-preserving functions and b -metrics, Khemaratchatakumthorn and Pongsriiam [7] define the following notions:

Definition 1.3. Let $f : [0, \infty) \rightarrow [0, \infty)$. We say that

- (i) f is b -metric-preserving if for all b -metric spaces (X, d) , $f \circ d$ is a b -metric on X ,
- (ii) f is metric- b -metric-preserving if for all metric spaces (X, d) , $f \circ d$ is a b -metric on X , and
- (iii) f is b -metric-metric-preserving if for all b -metric spaces (X, d) , $f \circ d$ is a metric on X .

We let \mathcal{M} be the set of all metric-preserving functions, \mathcal{B} the set of all b -metric-preserving functions, \mathcal{MB} the set of all metric- b -metric-preserving functions, and \mathcal{BM} the set of all b -metric-metric-preserving functions.

From [7, Theorem 15 and Example 16] and [8, Theorem 3.1], we have the following theorem.

Theorem 1.4. [7, 8] We have $\mathcal{BM} \subseteq \mathcal{M} \subseteq \mathcal{B} = \mathcal{MB}$, $\mathcal{M} \not\subseteq \mathcal{BM}$, and $\mathcal{B} \not\subseteq \mathcal{M}$.

2 Preliminaries and Lemmas

In order to prove our main theorem, we need to recall some basic definitions and results in [7].

Let $f : [0, \infty) \rightarrow [0, \infty)$ and let $I \subseteq [0, \infty)$. Then f is said to be increasing on I if $f(x) \leq f(y)$ for all $x, y \in I$ satisfying $x < y$, and f is said to be strictly increasing on I if $f(x) < f(y)$ for all $x, y \in I$ satisfying $x < y$. The notion of decreasing or strictly decreasing functions is defined similarly.

The function f is said to be amenable if $f^{-1}(0) = \{0\}$, and f is said to be tightly bounded on $(0, \infty)$ if there is $v > 0$ such that $f(x) \in [v, 2v]$ for all $x > 0$. We say that f is concave if $f((1-t)x_1 + tx_2) \geq (1-t)f(x_1) + tf(x_2)$ for all $x_1, x_2 \in [0, \infty)$ and $t \in [0, 1]$. In addition, we say that f is quasi-subadditive if there exists $s \geq 1$ such that $f(a+b) \leq s(f(a) + f(b))$ for all $a, b \in [0, \infty)$.

Definition 2.1. A triangle triplet is a triple (a, b, c) of nonnegative real numbers for which

$$a \leq b + c, \quad b \leq a + c, \quad \text{and} \quad c \leq a + b,$$

or, equivalently,

$$|a - b| \leq c \leq a + b.$$

Let $s \geq 1$ and $a, b, c \geq 0$. A triple (a, b, c) is an s -triangle triplet if

$$a \leq s(b + c), \quad b \leq s(a + c), \quad \text{and} \quad c \leq s(a + b).$$

Let Δ and Δ_s be the sets of all triangle triplets and s -triangle triplets, respectively.

Next, we recall results concerning b -metrics and metric-preserving functions. Again, we let $f : [0, \infty) \rightarrow [0, \infty)$ throughout.

Lemma 2.2. [7] $f \in \mathcal{BM}$ if and only if f is amenable and tightly bounded.

Lemma 2.3. [7] If $f \in \mathcal{B}$, then f is amenable and quasi-subadditive.

Lemma 2.4. [7, 8] Suppose f is amenable. Then $f \in \mathcal{B}$ if and only if there exists $s \geq 1$ such that $(f(a), f(b), f(c)) \in \Delta_s$ for all $(a, b, c) \in \Delta$.

Lemma 2.5. [6, p. 12] Let f be amenable. Then f is concave if and only if for all $t \geq 0$ and $x, y, z \in [0, t]$ if $x+t = y+z$, then $f(x) + f(t) \leq f(y) + f(z)$.

3 Main Results

We begin with a pasting lemma for functions in \mathcal{B} . We see that a slight modification from those in \mathcal{M} is enough. In addition, by Theorem 1.4, this also gives a pasting lemma for functions in \mathcal{MB} as follows.

Theorem 3.1. (A pasting lemma for functions in \mathcal{B} and \mathcal{MB}) *Let $g, h \in \mathcal{B}$, $r > 0$, and $g(r) = h(r)$. Define $f : [0, \infty) \rightarrow [0, \infty)$ by*

$$f(x) = \begin{cases} g(x), & \text{if } x \in [0, r), \\ h(x), & \text{if } x \in [r, \infty). \end{cases}$$

Suppose that g is increasing, concave, and

$$\forall x, y \in [r, \infty), |x - y| \leq r \Rightarrow |h(x) - h(y)| \leq g(|x - y|).$$

Then $f \in \mathcal{B}$.

Proof. Since $g, h \in \mathcal{B}$, by Lemmas 2.3 and 2.4 there are $s_1, s_2 \geq 1$ such that

$$(g(a), g(b), g(c)) \in \Delta_{s_1} \text{ and } (h(a), h(b), h(c)) \in \Delta_{s_2} \text{ for every } (a, b, c) \in \Delta.$$

Let $s = \max\{s_1, s_2\}$ and let $(a, b, c) \in \Delta$. Without loss of generality, assume $0 \leq a \leq b \leq c \leq a + b$. If $a, b, c \in [0, r)$, then $(f(a), f(b), f(c)) = (g(a), g(b), g(c)) \in \Delta_{s_1} \subseteq \Delta_s$. If $a, b, c \in [r, \infty)$, then $(f(a), f(b), f(c)) = (h(a), h(b), h(c)) \in \Delta_{s_2} \subseteq \Delta_s$. So it remains to consider the cases where a, b, c are not in the same interval. If $c \in [0, r)$, then $a, b \in [0, r)$ too. So there are two cases left to consider as follows.

Case 1. $a, b \in [0, r)$ and $c \in [r, \infty)$. Then

$$f(a) = g(a) \leq g(b) = f(b) \leq f(b) + f(c) \leq s(f(b) + f(c)). \quad (3.1)$$

Since $|r - c| = c - r \leq a + b - r < r + r - r = r$,

$$|g(r) - h(c)| = |h(r) - h(c)| \leq g(|r - c|) = g(c - r).$$

Then

$$-g(c - r) \leq g(r) - h(c) \leq g(c - r). \quad (3.2)$$

Then $g(r) - g(c - r) \leq h(c)$. Since $c \leq a + b$, $c - r \leq a + b - r \leq a$. Since g is increasing, $g(c - r) \leq g(a)$ and therefore

$$\begin{aligned} f(b) = g(b) &\leq g(r) \leq g(r) + g(a) - g(c - r) = (g(r) - g(c - r)) + g(a) \\ &\leq h(c) + g(a) = f(c) + f(a) \\ &\leq s(f(c) + f(a)). \end{aligned} \quad (3.3)$$

Since g is concave, we can substitute $t = r$, $x = a + b - r$, $y = a$, $z = b$ in Lemma 2.5 to obtain $g(a + b - r) + g(r) \leq g(a) + g(b)$. By (3.2), $h(c) \leq g(r) + g(c - r)$. Therefore

$$\begin{aligned} f(c) = h(c) &\leq g(r) + g(c - r) \leq g(r) + g(a + b - r) \\ &\leq g(a) + g(b) = f(a) + f(b) \\ &\leq s(f(a) + f(b)). \end{aligned} \tag{3.4}$$

From (3.1), (3.3), and (3.4), we conclude that $(f(a), f(b), f(c)) \in \Delta_s$.

Case 2. $a \in [0, r)$ and $b, c \in [r, \infty)$. Since $r \leq b + c$, $b \leq c \leq c + r$, and $c \leq a + b \leq r + b$, we see that $(r, b, c) \in \Delta$. Then $(h(r), h(b), h(c)) \in \Delta_{s_2}$. Therefore

$$\begin{aligned} f(a) = g(a) &\leq g(r) = h(r) \leq s_2(h(b) + h(c)) \\ &\leq s(h(b) + h(c)) = s(f(b) + f(c)). \end{aligned} \tag{3.5}$$

Since $|b - c| = c - b \leq r$, $|h(b) - h(c)| \leq g(|b - c|) = g(c - b)$. Then $-g(c - b) \leq h(b) - h(c) \leq g(c - b)$ and therefore

$$\begin{aligned} f(b) = h(b) &\leq g(c - b) + h(c) \leq g(a) + h(c) \\ &= f(a) + f(c) \leq s(f(a) + f(c)), \end{aligned} \tag{3.6}$$

and

$$\begin{aligned} f(c) = h(c) &\leq g(c - b) + h(b) \leq g(a) + h(b) \\ &= f(a) + f(b) \leq s(f(a) + f(b)). \end{aligned} \tag{3.7}$$

From (3.5), (3.6), and (3.7), we obtain $(f(a), f(b), f(c)) \in \Delta_s$. In all cases, $(f(a), f(b), f(c))$ is in Δ_s , as required. Consequently, $f \in \mathcal{B}$ and the proof is complete. \square

It remains to consider functions in \mathcal{BM} .

Theorem 3.2. (A pasting lemma for functions in \mathcal{BM}) *Let $g, h \in \mathcal{BM}$, $r > 0$, and $g(r) = h(r)$. Define $f : [0, \infty) \rightarrow [0, \infty)$ by*

$$f(x) = \begin{cases} g(x), & \text{if } x \in [0, r), \\ h(x), & \text{if } x \in [r, \infty). \end{cases}$$

Let $A = \sup_{x \in (0, \infty)} f(x)$ and $B = \inf_{x \in (0, \infty)} f(x)$. Then

$$(i) \quad A = \max \left\{ \sup_{x \in (0,r)} g(x), \sup_{x \in [r,\infty)} h(x) \right\} \text{ and} \\ B = \min \left\{ \inf_{x \in (0,r)} g(x), \inf_{x \in [r,\infty)} h(x) \right\},$$

and the following statements are equivalent

$$(ii) \quad f \in \mathcal{BM}$$

$$(iii) \quad A \leq 2B$$

$$(iv) \quad \sup_{x \in (0,r)} g(x) \leq 2 \inf_{x \in [r,\infty)} h(x) \text{ and } \sup_{x \in [r,\infty)} h(x) \leq 2 \inf_{x \in (0,r)} g(x).$$

Proof. By Lemma 2.2, it follows that $\inf_{x \in (0,r)} g(x)$, $\sup_{x \in (0,r)} g(x)$, $\inf_{x \in [r,\infty)} h(x)$, and $\sup_{x \in [r,\infty)} h(x)$ exist. Then $\sup_{x \in (0,\infty)} f(x)$ and $\inf_{x \in (0,\infty)} f(x)$ exist, and the statement (i) is obvious. Next, assume that (ii) holds. By Lemma 2.2, there exists $v > 0$ such that $v \leq f(x) \leq 2v$ for all $x \in (0, \infty)$. Then $v \leq B \leq A \leq 2v$. Therefore $2B \geq 2v \geq A$, which proves (iii). Now, suppose (iii) holds. Then for each $x \in (0, \infty)$, we have

$$B = \inf_{x \in (0,\infty)} f(x) \leq f(x) \leq \sup_{x \in (0,\infty)} f(x) = A \leq 2B.$$

So f is tightly bounded. By Lemma 2.2, g and h are amenable. So f is also amenable. Applying Lemma 2.2 again, we obtain $f \in \mathcal{BM}$, as required. Hence (ii) and (iii) are equivalent. Next, we prove (iii) implies (iv). We have

$$\begin{aligned} \sup_{x \in (0,r)} g(x) &\leq \max \left\{ \sup_{x \in (0,r)} g(x), \sup_{x \in [r,\infty)} h(x) \right\} = A \leq 2B \\ &= 2 \min \left\{ \inf_{x \in (0,r)} g(x), \inf_{x \in [r,\infty)} h(x) \right\} \leq 2 \inf_{x \in [r,\infty)} h(x), \end{aligned}$$

and, similarly,

$$\sup_{x \in [r,\infty)} h(x) \leq A \leq 2B \leq 2 \inf_{x \in (0,r)} g(x),$$

which proves (iv). Finally, assume that (iv) holds.

Case 1. $\sup_{x \in (0,r)} g(x) \geq \sup_{x \in [r,\infty)} h(x)$. Then $A = \sup_{x \in (0,r)} g(x)$. Since $g \in \mathcal{BM}$, we can use an argument similar to the prove of (ii) \Rightarrow (iii) to obtain

$$\sup_{x \in (0,r)} g(x) \leq 2 \inf_{x \in (0,r)} g(x).$$

By (iv),

$$\sup_{x \in (0,r)} g(x) \leq 2 \inf_{x \in [r,\infty)} h(x).$$

Therefore

$$\begin{aligned} A &\leq \min \left\{ 2 \inf_{x \in (0,r)} g(x), 2 \inf_{x \in [r,\infty)} h(x) \right\} \\ &= 2 \min \left\{ \inf_{x \in (0,r)} g(x), \inf_{x \in [r,\infty)} h(x) \right\} = 2B. \end{aligned}$$

Case 2. $\sup_{x \in (0,r)} g(x) < \sup_{x \in [r,\infty)} h(x)$. Then $A = \sup_{x \in [r,\infty)} h(x)$. Similar to Case 1, since $h \in \mathcal{BM}$, we have $\sup_{x \in [r,\infty)} h(x) \leq 2 \inf_{x \in [r,\infty)} h(x)$. By (iv), $\sup_{x \in [r,\infty)} h(x) \leq 2 \inf_{x \in (0,r)} g(x)$. These imply $A \leq 2B$.

In all cases, $A \leq 2B$, which proves (iii). So the proof is complete. \square

Pasting lemmas for other functions will be given in a future article.

Acknowledgement. We would like to thank Prapanpong Pongsriiam for his suggestions and his support of this submission.

References

- [1] J. Borsík, J. Doboš, *Functions whose composition with every metric is a metric*, *Mathematica Slovaca*, **31**, (1981), 3–12.
- [2] P. Corazza, *Introduction to metric-preserving functions*, *American Mathematical Monthly*, **106**, no. 4, (1999), 309–323.
- [3] S. Czerwik, *Contraction mappings in b -metric spaces*, *Acta Mathematica et Informatica Universitatis Ostraviensis*, **1**. (1993), 5–11.
- [4] P. P. Das, *Metricity preserving transforms*, *Pattern Recognition Letters*, **10**, (1989), 73–76.
- [5] M. M. Deza, E. Deza, *Encyclopedia of Distances*, Second edition, Springer, 2013.
- [6] J. Doboš, *Metric Preserving Functions*, Online Lecture Notes available at <http://web.science.upjs.sk/jozefdobos/wp-content/uploads/2012/03/mpf1.pdf>
- [7] T. Khemaratchatakumthorn, P. Pongsriiam, *Remarks on b -metric and metric-preserving functions*, *Mathematica Slovaca*, **68**, no. 5, (2018), 1009–1016.

- [8] T. Khemaratchatakumthorn, P. Pongsriiam, S. Samphavat, *Further remarks on b -metrics, metric-preserving functions, and other related metrics*, International Journal of Mathematics and Computer Science, **14**, no. 2, (2019), 473–480.
- [9] P. Pongsriiam, I. Termwuttipong, *On metric-preserving functions and fixed point theorems*, Fixed Point Theory and Application, 2014:179, 14 pages
- [10] P. Pongsriiam, I. Termwuttipong, *Remarks on ultrametrics and metric-preserving functions*, Abstract and Applied Analysis, Article ID 163258, 2014, 9 pages.
- [11] Q. Xia, *The geodesic problem in Quasimetric spaces*, Journal of Geometric Analysis, **19**, no. 2, (2009), 452–479.